depepaumsa cnoptuBHom 6opbbbl YensbuHckon obnacTtu Mr14/66
OTKpbITbIN Ky6ok BypeBecTHMKa
Cpoku npoBeaeHus MecTo npoBegeHus basa Bosp./Bec
17.10.2021 r. YensabuHck CK Manbumkm 12-13 net 66 Kr, rpPaNNANHI-TY,
BypeBecTHUK
(Ne Ne damunna N.0. 1 2 3 4 MNo6enb! Knaccud. MeCTO\
n/n | n/x OYKM
5:0 (0:0) | 5:0 (0:0) | 5:0(9:0)
1 | 1 |nbuHey AHgpeit (YensbuHck, 66kr) SB FT SB 3 15 1
1 1 1
0:5 (0:0) 5.0 (0:0) | 5:0 (10:0)
2 | 2 |MeHbweHuH Anekcen (ETkynb, 65kr) SB FT SB 2 10 2
0 1 1
0:5 (0:0) | 0:5(0:0) 0:5 (0:0)
3 | 3 |laBpunos Hukuta (KbilwTbiM, 66Kr) FT FT FT 0 0 3
0 0 0
0:5 (0:9) [ 0:5(0:10)| 5:0 (0:0
4 4 gﬂsaKiirMTOB Brnagucnas (KeiwiTbiM, S(B ) éB ) F(T ) 1 5 3
) 0 0 1
- J
Kpyr 1
1(UnbuHey Anpapeit (YensbuHck, 66kr) |
M 5 K = >[ WnbuHeL )
4(Masautos Bnagucnas (KblTbim, 58kr) 5:0 (9:0) SB
2(MeHbLueHuH Anekcen (ETkyrb, 65kr) )
= H < 56 >[ MeHbLUEHWH )
3(TaBpunos Hukuta (KbiwTbiM, 66kr) 5:0 (0:0) FT
Kpyr 2
1(UnbuHey Anapeit (ensbuHck, 66kr) |
= H < 56 >[ WnbuHeL )
3(TaBpunos Hukuta (KblwTbiM, 66kr) 5:0 (0:0) FT
2(MeHbLueHuH Anekcelt (ETkysb, 65Kr)]
M 5 K = >[ MeHbLUEHWH )
4(Masautos Bnagucnas (KblTbim, 58kr) 5:0 (10:0) SB
Kpyr 3
1(UnbuHey Anapeit (ensbuHck, 66kr) |
M Anekceit (ETkynb, 65kr) ]> Mnbitkel )
2(MeHbLUEeHMH y 5:0 (0:0) SB
3(FaBpunos Hukuta (KbiwTbim, 66kr) )
M 5 K = >[ Ma3auToB )
4(Masautos Bnagucnas (KblTbim, 58kr) 5:0 (0:0) FT

m.cynops

Mepenses B.H.
pacwmgpoBka nognnucu

noanucb

PykoBoguTtens koBpa

noanucb

Mepensesa E.B.
pacwmgpoBka noannucun



